
NSN 2520-00-136-4499
Tractor Axle Assembly - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/2520-00-136-4499

General Description:

Consists of 1 tie rod, part no. 192-184, 16 bushings, tapered, part no. 197-14, 1 clevis, tie rod lh, part no. 200-27, 1 clevis, tie rod rh, part no.

200-28, 1 housing, axle, part no. 207-93, 1 vent, housing, part no. 222-1, 2 bolt, @tie rod, part no. 258-75, 2 shaft, axle, part no. 597-30, 1

cap assembly, diff, part no. 800-205, 2 screw cap, h.T. Special, part no. 601-1, 1 wheel @assy, l.F. And r.R., part no. 609-3176, 1 wheel

assembly, r.F. And l.R., part no. 609-2119, 2 oil seals, part no. 50455, 1 gasket, @part no. 1089494, 2 grease fittings, 1/8 x 90 deg, 2 pipe

plugs, 3/4 npt, internal thd, 8 capscrews, 7/16-14 x 1-1/4, 4 capscrews, 7/16-14 x 1-3/4, 16 capscrews, 1/2-20 x 1-1/4, 2 capscrews, 1/2-20 x

1-3/4, 14 capscrews, 1/2-20 x @2-1/4, 2 locking nuts, 3/4-16, 18 hex nuts, 1/2-20, 18 lockwashers, 1/2 in., 12 lockwashers, 7/16 in.

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

https://aerobasegroup.com

